

Atividade de retomada MAT7_08NUM10

Ligue os resultados corretamente:

$$\left(\frac{1}{2}\right)^{-1} = \left(\frac{1}{2}\right)^{-2} = -\left(-\frac{3}{5}\right)^2 = \left(-\frac{2}{5}\right)^{-2} =$$

$$\frac{25}{4}$$

$$2$$

$$-\frac{9}{25}$$

$$4$$

Ligue os resultados corretamente:

$$\left(\frac{1}{2}\right)^{-1} = \left(\frac{1}{2}\right)^{-2} = -\left(-\frac{3}{5}\right)^2 = \left(-\frac{2}{5}\right)^{-2} =$$

$$\frac{25}{4}$$

$$2$$

$$-\frac{9}{25}$$

$$4$$

Ligue os resultados corretamente:

$$\left(\frac{1}{2}\right)^{-1} = \left(\frac{1}{2}\right)^{-2} = -\left(-\frac{3}{5}\right)^2 = \left(-\frac{2}{5}\right)^{-2} =$$

$$\frac{25}{4}$$

$$2$$

$$-\frac{9}{25}$$

$$4$$

